专题3-15   高三数学综合练习三答案
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17. 解：（1）方法一
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②方法一
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下同方法一．
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所以，0≤Sn＜2． 
20. 解：（1）由题设，
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于是，f(x)有两零点，不合题设．

综上，a的取值集合为{1}． 


（3）证：先证x1+x2＞2．
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于是，t＞1时，g(t)＞g(1)0．

又lnt＞0，所以，x1+x2＞2．
(第16题图)
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_1545381098.unknown

_1545381422.unknown

_1577885528.unknown

_1545381113.unknown

_1545381114.unknown

_1545381115.unknown

_1545381112.unknown

_1515163785.unknown

_1515163864.unknown

_1515163920.unknown

_1515163843.unknown

_1515163761.unknown

_1515161915.unknown

_1515163663.unknown

_1515162045.unknown

_1515162102.unknown

_1515161772.unknown

_1515161815.unknown

_1515160902.unknown

_1515159979.unknown

_1515160269.unknown

_1515160824.unknown

_1515160049.unknown

_1515159651.unknown

_1515159813.unknown

_1515159642.unknown

_1515151846.unknown

_1515152322.unknown

_1515159120.unknown

_1515159347.unknown

_1515152323.unknown

_1515152001.unknown

_1515152123.unknown

_1515151978.unknown

_1491381847.unknown

_1513590466.unknown

_1515079867.unknown

_1515137670.unknown

_1513591468.unknown

_1491464572.unknown

_1513532980.unknown

_1513589867.unknown

_1491464649.unknown

_1491416669.unknown

_1491464561.unknown

_1491417141.unknown

_1491424652.unknown

_1491424531.unknown

_1491416849.unknown

_1491415348.unknown

_1491415485.unknown

_1491415545.unknown

_1491415321.unknown

_1491373301.unknown

_1491373705.unknown

_1491376245.unknown

_1491376269.unknown

_1491373734.unknown

_1491373820.unknown

_1491373841.unknown

_1491373746.unknown

_1491373716.unknown

_1491373678.unknown

_1491373690.unknown

_1491373651.unknown

_1491337238.unknown

_1491337474.unknown

_1491337857.unknown

_1491370338.unknown

_1491372862.unknown

_1491372935.unknown

_1491337883.unknown

_1491337744.unknown

_1491337846.unknown

_1491337516.unknown

_1491337314.unknown

_1491337377.unknown

_1491337264.unknown

_1491337072.unknown

_1491337151.unknown

_1491337200.unknown

_1491337127.unknown

_1491336843.unknown

_1491336872.unknown

_1491326470.unknown

_1491336801.unknown

_1491326393.unknown

_1491326451.unknown

_1491326380.unknown

_1490872114.unknown

_1491282255.unknown

_1491306771.unknown

_1491306786.unknown

_1491306802.unknown

_1491306805.unknown

_1491306812.unknown

_1491306815.unknown

_1491306809.unknown

_1491306803.unknown

_1491306788.unknown

_1491306795.unknown

_1491306787.unknown

_1491306777.unknown

_1491306780.unknown

_1491306775.unknown

_1491282952.unknown

_1491295034.unknown

_1491301753.unknown

_1491302061.unknown

_1491302249.unknown

_1491302383.unknown

_1491302151.unknown

_1491302006.unknown

_1491301566.unknown

_1491283039.unknown

_1491283085.unknown

_1491283729.unknown

_1491283012.unknown

_1491282596.unknown

_1491282876.unknown

_1491282321.unknown

_1491237471.unknown

_1491237500.unknown

_1491237525.unknown

_1491281443.unknown

_1491282114.unknown

_1491282184.unknown

_1491282079.unknown

_1491282054.unknown

_1491281244.unknown

_1491281291.unknown

_1491237527.unknown

_1491237528.unknown

_1491237526.unknown

_1491237521.unknown

_1491237523.unknown

_1491237524.unknown

_1491237522.unknown

_1491237502.unknown

_1491237520.unknown

_1491237501.unknown

_1491237496.unknown

_1491237498.unknown

_1491237499.unknown

_1491237497.unknown

_1491237493.unknown

_1491237495.unknown

_1491237472.unknown

_1491237467.unknown

_1491237469.unknown

_1491237470.unknown

_1491237468.unknown

_1491237458.unknown

_1491237466.unknown

_1491237455.unknown

_1488199387.unknown

_1488199588.unknown

_1488206488.unknown

_1488218703.unknown

_1488218712.unknown

_1488218657.unknown

_1488208540.unknown

_1488199619.unknown

_1488199492.unknown

_1488199545.unknown

_1488199445.unknown

_1488170686.unknown

_1488199302.unknown

_1488199336.unknown

_1488199252.unknown

_1488170740.unknown

_1234567933.unknown

_1488131454.unknown

_1488131490.unknown

_1488131497.unknown

_1486838933.unknown

_1234567931.unknown

